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CBT Sample assessment model answers

Credit Management (CDMT)

Sample assessment 2
Task 1 (18 marks)
[image: image2.png](a) Complete the following sentences about The Late Payment of Commercial Debts (interest) Act1998. (4 marks)

‘The Late Payment of Commercial Debs (Interest) Act 1998 entiies a business selling goods to charge statutory interest. This can be

charged to the buyer starting rom [ine day after the agreed date for payment il - Statutory inferest is made up ofthe Bank of

England base rate plus [5.0 | % The interest chargeable applies to

A compensation enttiement can be charged [6s well as interest %]

[ire specific overaue ebtincluging vAT Rl

(b) Drag and drop the correct words into the following statement.

(2 marks)

Condiions and warranties are two types of terms within a contact.If one party breaks either of them, the other party can sue for

e Irons party breaks any [~ coro———] he otner pary can chooss tovoid he conlract
repudiation warranty
afirmation Termination Consideration om






Task 1 (continued)
[image: image3.png](c) Identify whether the following statements about the Data Protection Act are true or faise. (4 marks)

Companies are not allowedto charge individuals who wish to see information
held about them.

An interet company that wishes to use data collected from individuals for
marketing purposes must have the permission of those individuals.

Companies and organisations that wouldlike to process data about
individuals have a choice to notfy the Offce of the Information Commissioner.

Information gathered by using CCTV security cameras s not subjectto
the Data Protection Act rules.

SIS





[image: image4.png]() The contract between Agnieszka and the fashion supplier is voidable due to: (2 marks)

istake

Fraug

Coercion

Consumer Credit






Task 1 (continued)
[image: image5.png](e) Identify whether the following statements about contract law are true or faise. (6 marks)

A contract must have an offer butthis does not have to be accepted. [Fase Al

An agreement of one neighbour o wash another's car in exchange for the other baby
siting her children would usually include an intention to create legal relations. [Fase Al

Consideration can be a promise to do something in the future. [frue





Task 2  (24 marks)
[image: image6.png](2) Complete the table below by calculating the key indicators (to two decimal places) for 20X5 and 20X4
for Tar Ltd, and rate the company using the credit rating scoring system.

Operating proit margin % 541 5 083 o
Interest cover 227 o 030 20
Gurentraio 153 10 083 20
Gearing % 5828 o 719 20
Total creditrating 15 50





[image: image7.png](b) Based on the results of your credit rating and using the table above, recommend whether the
requested credit limit should be given to Tarn Ltd.

[Requestlatest management accounts and defer decision





Task 3  (30 marks)
Part (a) 
Sales representatives on client visits can be asked to
1. Remind customers whenever an account is overdue.

This ensures the person responsible for orders is aware the account has not been paid within the terms. He/she is likely to be able to influence the Accounts Payable department from within the business.

2. Observe the premises to gain an impression of whether the business looks busy/well managed

By witnessing how active the business is, the representative is in a position to say whether business is quiet. This might indicate that less cash will be available to settle accounts with suppliers.

3. Take note of any internal notice boards or overheard comments that might indicate the business is having difficulties

Notices asking for volunteers to work overtime would indicate that business is booming and that cash is available to pay suppliers. Rumours of redundancies might be a clue to be vigilant if the account becomes overdue.

Part (b)

1. Follow a procedure when invoices have not been settled within the credit terms. 

A telephone call or a letter notifying a client that the date due has passed is likely to lead to payment more quickly than ignoring it

The procedure will give the clerk a date on which an overdue account should be passed to a debt collection agency or when to initiate court action. This is easier than leaving the decision of when to initiate action to the clerk.

2. Notifying the Finance Manager of any reasons offered by customers for non-payment

Any claims that goods supplied were not satisfactory can be addressed quickly so that no reason remains for late or non-payment of an invoice.

3. Notifying the sales representatives

This can enable the sales representatives to make personal contact with the firm and remind them of their obligation to pay on time.

4. Keeping records of credit checks carried out on new credit customers

These can be used to compare with the actual payment records from the customers, and enable prompt responses to any not keeping to terms.

Part (c)
Profitability 
· The sales revenue has increased by 20% in one year. As Jolly Cuppa are actively expanding this may be the result of acquisitions. On its own it does not provide cause for concern. Growth for Jolly Cuppa is likely to lead to growth for ourselves which we favour. 

· The gross margin has fallen slightly as a percentage. 

· Gross profit is £34,550 higher than last year as an absolute amount.

· The operating profit margin has also fallen, but the difference is less than half a percent. 

· Operating profit in absolute values is £24,286 higher.

This fall in gross profitability as a % may have been caused by:
· Discounting prices 
· Additional operating costs. 
· Jolly Cuppa may have acquired cafes during the year which needed them to spend money on to match their existing cafes. 
The rise in the operating profit value can be attributed to good cost control over distribution and administration costs
· Distribution costs rose by less than 7% - about a third of the rise in revenue. This may reflect a high proportion of fixed costs
· Administration costs rose by 9%. This gives the impression that these also have a high proportion of fixed costs.
· Interest cover is 69 from 48 times last year. The rise is due to the reduction in interest cost and the rise in operating profit. This indicates that Jolly Cuppa could take on more debt. 

Liquidity 
· The current ratio is higher than the previous year meaning liquidity appears to have improved.

· The receivables collection period is nil which suggests that no credit sales are made

· The cash balance is very high for both years.

· Inventory also appears to be being managed adequately as the amount has increased in in absolute terms but the holding period has fallen. 

· As the sales revenue has increased, maintaining the inventory holding days indicates improved inventory management.

· Jolly Cuppa are a café business. The short inventory holding period may reflect the short life of many of the food items.

· The trade payables payment period has fallen from 35 to 12 days. This is an improvement. It might reflect a change to the terms of trade they have with suppliers.
· It would be useful to ask them why this is such a dramatic change. 
· And ask why we have been approached to increase their credit period to over three and a half times their average.
· Jolly Cuppa might be buying a larger proportion of their inventory on a payment on delivery basis. (or cash with order)

· Working capital appears to have been managed relatively efficiently. The working capital cycle has risen from -12 to 9.5 days. Such short periods may be normal for cafes selling all the items for cash but buying some supplies on credit.
Gearing and risk
· The gearing has decreased from 19.3% to 9.19 %. It was very low to start and is now even lower. This is reassuring in terms of Jolly Cuppa’s debt.

· The level of borrowing has reduced by just over £3,000. This is a good sign.

· Overdraft debt has risen at the same time that long term debt has fallen. 
· When we look at the very high cash balance it appears strange that Jolly Cuppa has any debt at all. 

· However, the company is planning expansion. If the company is successful in acquiring more cafes, they may borrow more funds. This would raise the level of gearing.

· There is plenty of capacity to borrow funds as the level of debt is currently so low.
· In terms of gearing there is very little financial risk.

· Business risk. The business appears to be flourishing. Expansion into new locations may bring with it some risk. The business appears to be well managed and able to generate profits and cash.  
Conclusion/Recommendation
· The performance indicators seem acceptable. The business is making a profit and managing its working capital well. 

· Our standard terms are 30 days. Jolly Cuppa’s financial statements show they are able to settle our account within our terms. They have asked for 60 days.
· I recommend that we reject period of credit part of the request. Because our terms are 30 days from the end of the month of purchase we draw attention to this fact and point out that deliveries they receive early in any month have longer effective credit terms.
· Before granting credit, our Sales Manager will need to make it clear that any period longer than 30 days would not be acceptable.

· The amount of credit requested is £40,000. This is a lot more than their total trade payables at the end of 20X5. 

· As a total amount of credit, £40,000 for a £700,000 turnover business is looks acceptable.

· Whether Jolly Cuppa expand or not would not be critical to the decision to grant additional credit

· I recommend that we grant the increased credit limit of £40,000
If credit is to be granted, further comfort in the way of retention of title clauses, credit insurance or directors’ guarantees might be considered.


Task 4  (20 marks)
[image: image8.png]Complete the email to the Chief Credit Controlier, calculating and commenting on key ratios and conclude
by recommending whether or not credit should be extended. Al calculations should be given to to two.

decimal places.
Email
To:  Credt Controller Date:  Today

From:  AAT Technician

Subject: New Customer Dixy Ltd

Please find below my calculations, obsenvations and recommendation for new customer Dixy Lt

Proftabilty

The sales revenue has decreased by [10.31 | % which may be a bad sign. The gross profit margin has reduced from [5.71

in20x4to[50.33

E

9% n 20X5. This means that [ine seling price has decreased of the cost of sales has increased.

The gross profithas fallen in absolute tems by [17.65% [l

‘The mostimportant indicator of profitability is the operating profit margin which has fallen from [16.50 | %in 20x4to [0.07

in 20X5. The operating loss has been caused by a combination ofthe

in combined distribution and administration costs.

[secrease 5l in gross proft and the increase of [10.08





Task 4 (continued)
[image: image9.png]Liquidity

“The current ratio has fallen from [3.38

n20X4to [245 | in20X5 This is because there has been an increase in current

current assets. The business stillhas cash in hand, although this has fallen by [22.17 | %

‘The inventory holding period has increased slightly ffom 152 days to 166 days which indicates that ttakes a long time to convert

inventory o ates [Fougi i oy Gepend om e musty and be 3 xpecies

e race recevabiescolecion peroghas 71 days107 cays. The payatles payment perodnas ncreasea

from [70332_| days in20x4 1o [106.84)

paymentby |7684 | days.

days in 20X5. This may be a problem as this currently exceeds our standard terms of

Gearing

Both long-term and shortterm borrowing have increased. The gearing ratio has increased to [70.04.

been s aresult of acquiring new plant and equipment

9% in 20X5. This may have

Recommendation

Irecommend hat [we efer the decision and ask for further information about future plans.






Task 5  (22 marks)
[image: image10.png](a) Creditors have several options to enforce a county court judgement. Match each option to the.
‘explanation by clicking o the left box first then on the corresponding right box. You can remove a fine.
by clicking on it.

Enforcement option Explanation

|An order issued by a court entiting a creditor to collect payment

from the customer of their debor.
Gamnishee Order

An order issued by a County Court entiting the creditor to
instructa court employee to collect assets from the debtor.

An order issued by a High Court entiing the creditor to instruct

Charging Order an agentto collect assets from the debor.

‘An order issued by a court entiting the creditor to enter the.
premises of the ebtor to seize assets to the value of the debt.

Recovery by a Sherift

‘An order issued by a court entiting a creditor to receive
payment on the sale of specified property

(6 marks)





Task 5 (continued)
[image: image11.png](b) Which of the following statements are true in the context of credit insurance? (4 marks)

Acreditinsurer will usually assess the high value accounts of a client and set the
creditlimits.

Awhole tumover credit insurance policy willtypically provide cover on every
customer to the full value of money owed.

Asingle risk credit insurance policy will ypically only cover a named customer and
provide indemnity for 80-90% of the credit limit granted.

Creditinsurance claims can only be made six months after the date a debt was
dueto be sefed.





[image: image12.png](c) Complete the following sentences. (4 marks)

ABC s offering [a recourse factoring fat %]

X¥Z can borrow: £ [1750000






Task 5 (continued)
[image: image13.png](d) Which of the following may appoint an administrator to manage the companies affairs? (2 marks)

() An administration order made by the court
(i) The holder of a qualifying floating charge.
(i) The company or its directors

(W) Acreditor owed £750 o more.

® and (i)

All ofthe above

(i) and (v)





[image: image14.png](€) Drag and drop the correct words into the following statement. (4 marks)

Aretention of ile clause within a contractis || SxPresslystated || it allows the supplier to retain

‘ownership of the goods supplied. An official receiver || 40es nothave o || seek the authority of an insolvency pracitioner

before deciding that a claimis valid. If an official receiver sells goods that are subjectto a valid retention of tile claim by the

supplier he or she| canbe liable to pay damages to the supplier.






Task 5 (continued)
[image: image15.png]Acustomer owes Syed £7,200. (2 marks)

() Which court would deal with Syed's claim?

High Court under ult Track Route

County Court under Small Claims Track

‘County Court under Mult Track Route

Magistrates Court under Fast Track






Task 6  (16 marks)
[image: image16.png](a) Complete the following emai. (4 marks)

Email
To:  Sales Staff Date:  Today
From:  AAT Technician Subject: Early Settlement Discounts

Please find below my explanation of how an annual percentage cost of an early settiement discountis calculated.
The effective rate of interest
I3 customer pays prompty to take advantage of a 2% early settlsment discount, we willreceive 98% of the invoice total. This means

thatthe discount we are giving the customeris [2.04% ofthe amountthey pay us. This is what t costs us to receive the cash

earlier than our normal creditterms. It s called the effective rate of interest.
Discount periods

Ifthe normal creditterms require customers to pay within 30 days of receiving an invoice, and the discount applies ifthe
‘customer pays within 14 days, we are offering the discountin retur for paying 16 days earler than our normalterms.
There are [2281 discount periods of 16 ays in a 365 day year.

Annual percentage cost of the early settiement discount using simple interest rates

‘The annual percentage costis found by [multiplying JEA the efieciive rate ofnterest and the discount periods in a year
The annual percentage cost of ffering 2% discount to customers paying wihin 14 days rather than 30 days is [¢7_ [l tothe

nearestwhole percent. | trustthis will help you in any discussions with customers about early setiement discounts.

AT Technician





Task 6 (continued)
[image: image17.png](b) Calculate the compound annual cost of each discount to two decimal places. (4 marks)

The compound annual cost of the discount of 1% s [1851 ] %.

The compound annual cost of the discount of 1.5% s [2582 ] %.

(c) Which of the following willincrease the liquidity of a business? (2 marks)

Allowing customers extended credit terms to encourage them to buy more.

Requiring a deposit with orders and setiement upon delivery of goods.

Paying suppliers before their required date to take advantages of giscounts.

Paying in advance for staff annual travel tickets then deducting the cost from net pay in 12 equal
instalments, one each montn





Task 6 (continued)
[image: image18.png](d) Calculate expected cash receipts in month 3.

< [r28168

(e) Which of the following conditions must have been met for a business to successfully claim VAT Bad

Debt Relief from HMRC?

The customer must have ceased trading and not paid one or more invoice due to the business.

Ownership of the tems invoiced must have been transferred to the customer

The business making the claim must have writlen the debt off as bad (irecoverable).

The debt must be atleast 12 months old.

(2 marks)

(2 marks)




[image: image19.png]() Calculate the amount that Patrick should write off as an irrecoverable debt. Ignore VAT. Show your
answer to the nearest penny. 2 marks)

= [r23750






Task 7  (20 marks)
(a) CakesRUs

· It is of the utmost importance that Rudyard acts with urgency on this matter as the receiver has only just been appointed.

· Speed is of the essence in case the receiver uses the goods in any way.

· Rudyard does have a standard ROT clause, so a visit to the premises of CakesRUs is worthwhile.

· If this is some distance away, it may be possible to appoint an agent to visit on Rudyard’s behalf.

· However, there may be a problem with identifying the flour supplied by Rudyard as this may be deemed to be a bulk, generic product which may have already been mixed in with other flour at the point of delivery in the bulk storage bins.

· Unless Rudyard’s flour is of a special nature that can clearly be identified as supplied by Rudyard, it is likely that the ROT claim will fail.

· Rudyard will then fall to be an unsecured creditor of CakesRUs and will be unlikely to receive much, if anything, of the outstanding debt.

· The invoice is for £115,000 (500 x £230). 

· The account is credit insured for 80% of the debt, therefore a claim should be made to the insurer for £92,000 (80% x £115,000).

· A provision should be made for the balance of £23,000.

· There will be no claim for HMRC bad debt relief as VAT on this will be zero (foodstuff).

Traybakers

· It is important that this customer is treated with tact as it would appear that Traybakers is responsible for a great deal of business with Rudyard.

· It is slightly concerning that a customer who is used to dealing with Rudyard and who normally pays promptly has not notified any problem until the debt was chased, although there may be a very plausible reason for this.

· It may be worth investigating whether any subsequent orders have been placed or whether this might be a warning sign of payment difficulties.

· It would not be appropriate to destroy a good customer relationship over this debt, so it is suggested that order and delivery documentation is reviewed.

· If Traybakers is incorrect, it would be possible to send copies of the order and delivery documentation and insist on payment as notification was only made when the debt was chased, and not within the required timescale.

· If Traybakers is correct, arrangements should be made to collect the goods and issue a credit note. Any restocking fees or charges could be waived in light of the trading history and the importance of the client.

· Even if Traybakers is not correct, it would be in the interests of goodwill and client service to replace the goods or issue a credit note with no restocking charge. 

· Attention could be tactfully drawn to the clause about the timing of notification of problems with goods.

· The Despatch department should also review the procedure to ensure that incorrect deliveries are minimised.
· No provision is necessary.
Task 7 (continued)
Chefzone

· The terms of Rudyard’s ROT clause probably do not cover the possibility of recovering goods which have been sold to a third party (and such clauses often are not successful). It also may not be economic to attempt to recover the machines in any event.

· A claim needs to be lodged with the liquidator.

· The goods are credit insured, so a claim needs to be made to the insurer for £50,000 (£70,000/1.4) – i.e. the production cost of the machines.

· A provision for £20,000 (the balance of the invoice net of VAT) should be made.

· A VAT bad debt relief claim should be made for £14,000 (the goods are machines thus are standard rated).

(b) 
· Prepare in advance of the conversation – review all documentation and details, and any other relevant account history.

· Always be professional and courteous.

· Explain carefully what is outstanding and when the payment was originally due, repeating the terms of trade if necessary.

· Establish whether there is any problem or query relating to the outstanding amount – if so agree what needs to be done and by whom to resolve this (e.g. agree to send copies of any documentation).

· Agree a date and method of payment with the customer.

· Keep careful and detailed notes of the conversation, date and person spoken to.

· Refer any problems to the senior credit controller for discussion and authorisation.
Indicators





This model answer uses the appropriate negative figures to indicate negative operating profit margin percentages, and zeros to indicate negative interest cover figures. This reflects industry preference.





However, for the purposes of this assessment, students may enter zero or the appropriate negative figure for both negative operating profit margins and negative interest cover.
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